
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحليل عوامل متعددة الحدود التربيعية

x − 3x − 182 x − 162

x − 12 5x + 35x + 602

7x − 8x − 122 x + 12x + 352

2x − 11x + 52 3x + 21x + 302

6x + 47x + 352 5x − 31x − 282
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

تحليل عوامل متعددة الحدود التربيعية

x − 3x − 182

(x − 6)(x + 3)

x − 162

(x − 4)(x + 4)

x − 12

(x + 1)(x − 1)

5x + 35x + 602

5(x + 3)(x + 4)

7x − 8x − 122

(7x + 6)(x − 2)

x + 12x + 352

(x + 7)(x + 5)

2x − 11x + 52

(2x − 1)(x − 5)

3x + 21x + 302

3(x + 2)(x + 5)

6x + 47x + 352

(6x + 5)(x + 7)

5x − 31x − 282

(5x + 4)(x − 7)
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